13



12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

True or false? Justify your answer.

C cC C
i) ab 4
b

Solvefora: a 6 15 4a

Solve for t: £
3

Solve for w: 23 %W

Money is invested in a savings account at 2.5% simple interest. After one year, $30.00 in interest is earned.

What principal was invested?

Evaluate:

3

5

3
Simplify: 2p*

Simplify and write your answer with positive exponents:

Solve the inequality and graph it on a number line 3x 13 5x 21

5

Simplify: 5a a*> 3b 7

Simplify:

X 5 x 3

Factor: 6w 24wt

Factor:

X

2

5x 84

6



Answer Key
8

1. > 2. T 3. > 4. — 5.1.46
6 6 2 5

6.. P 9cm A 4.76cm? 7. 126m? 8. 27

9. 3 10. 2x 11. Za Eb 12.i) True ii) False
6 20

13.a 7 14t % 15.w 112  16. $1200

17. 49 18. 8p* 19. x®



